Index No:

Name: i ( ) 22 August 2024
Class: Primary ¢

i)
7N\ SINGAPORE GHINESE GIRLS' SCHOOL
\CJ#  PRELIMINARY EXAMINATION 2024

PRIMARY 6
SCIENCE

BOOKLET A

Total Time for Booklsls A and B: 1k 45 min

INSTRUCTIONS TQO CANDIDATES

1. Write your index No. in the boxes at the top right-hand corner.
2. Do not turn over this page until you are told {o do <o.

3. Follow all Instructions carefutly.

4. Answer all questions,

6. Use a 2B pencil to shade your answers on the Opfical Answer Sheet (OAS).

This booklet consists of 20 printed pages.

BP-~835



gor each question from 1 to 28, four options are given. One of them {8 the carrect answer. Make you

cholce (1. 2, 3 or 4). Shade your answer on the Optical Answer Sheat,

[68 marks]

1

The diagrams below show two organisms.

fern

How are the two organisms simitar?

(1)
(2)
(3)
4

They do not have roots,

They do not have stems.

They reproduce by spores.

They do not make their own food.

Study the classification chart below.

Yes Canitfly?
Does it
have
{three
body Ne
parts? Can it fiy?

Which of the following statements is correct ?

8
(2)
3
(4)

Cisabat

B is a spider.

A and B are birds.

B and D are mammals,

Yes

No

1 Yes

hio

mushroom
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system.

{1
@
(3}
(4)

Belle drew the diagram below to show the direction of blood flow in the. human circulatory

_ _A L B _
heart. ”|  lungs legs
C D
Which arrows are drawn correctiy?
A and B only
A and C only
B and D only
All of the above
4 Study the information in the table below.
Found in
flowering plant hurman
Male reproductive cell Anther 8
Female reproductive cell A c

Which of the following correctly identifies A, B and C?

A B c
(1) ovules penis ovary
{2} ovary penls ovules
{3) ovary testes ovules
{4) ovules testes ovary
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&  Mr Tan found some weeds growing among his plants in his garden as shown In the diagray,
below. |

He fourid that his plants were not growing healthily when the weeds started grawing. Based 'on_
the dlagram above, which of the following best explains why Mr Tari's plants were not growing
healthily?

(1) The weeds competed with the plants for air.

(2) The weeds competed with the plants for water.
{37 The weeds competed with the plants for warmith,
(4) The weeds competed with the plants for sunlight.

6  The life cycle of a flowsring plant is shéwn below. C end D represent stages in the lifa cycle.

stage C
F E
A
stage
G
Which of the following is cotrect?
pollination germination

(1) G E
(2) F E
(3) G F
(4) F G




Devl investigated the effect of light and water on mould growih on bread. She set up an
experiment using three pleces of bread, R, $ and T, from the same loaf, Tha bread were toasled.

Different amounts of water were sprayad on the bread bafora being placed in diffarant locations.
Dievi observed the following results on Day 5.

mould \_

Bread R Bread S Bread T
{weli-lit room) {well-lit room) {dark room}

Bread | Number of sprays of water
' a

3
3

What can she conclude from the investigation?

Mould needs warmth to grow.
Mouid grows faster in the dask.
Mould does not need light to grow.

O 0w >

Mould grows faster without water.

(1} AandBonly
{2} BandConly
(3) A, BandConly
(4) B,CandDonly
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8  Aring of stem from a plant was removed gs shown below. As a result, the tubes carrying food
Wers removed,

Which of the following correctly describes the appearance of fruits A and B after 2 week?

Fruit A FruitB
(1) increases in size Increases in size
{2) incroases in size remains the same
(3 decreases In size decreases in size
4 remaing the same increases in slze




5

10

The diagram below shows what happens when an animal cell is placed in a beaker containing
substances Y and Z.

Y

Y Z

Y zz
At the start After some time

Based on the information above, which of the following correctly describes the cell membrane?

(1)
@
@)
(4)

It gives the cell a regular shape.

It controls the activities in the cell.

It allows substarice Z 6 leave thi cel.
Lallows substance Y to enter the cell.

Study the food chain shown below.

pP——»Q ———»R

When organism S was introduced into the environment, the population of Q increasad.

Which of the following is not a possible reason?

(1)
)
(3
%)

Organism S is a plant.
Organism S feeds on P,
Organiem Sis a prey of R,
Organism S'is a predator of R,
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11

Firas recorded the differant organisms he saw at the school pond in the table belaw.

Organism Number

tadpdle 3
guppies 4
frog 1
dragonfly 2
water lettuce 5

duckweed 10

water lotus

How many populations of produgers and consumers are in. this habitat?

Number of populations of

producers: consumers
) 3 3
(2) 3 3
@ 2 3
(4) 2 4
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12 Marian prepared sel-ups A, B and C as shown in the diagram below. She measured the amount

of oxygen In each of the contalners bafora leaving them In an open fiald for a day.

o ) .. W
glass - wooden
|~ containers ™ contalner\
plant —
insects = Ty
Setup A Set-up B Setup C

At the end of her experiment, Marian measured the amount of oxygen in each of the containers

again,

Which of the following shows the change in the amount of oxygen in each of the set-ups at
the end of the experiment?

A B c
{1} increase no change increase
2y decrease increase increase
(3) decreasa increase’ no change
{4} decrease increase decrezse

BP-843



13

Hazlq used frult P shown beiow to find out the averag

il is released from a height.

e time taken for it to reach the ground when

wing-like structure

Frut P
He conducted three expariments at the same location, The results of his experiments are
récorded as shown.
) | Helght ¢ Average time taken
Experiment Numi::{ﬂf:f- Hke 9 (c;ii drop for fruit to reach
the ground (s}
1 4 150 5.6
4 H 4.7
3 2 150 T

What are the possible vaiues of Hand 17

H T
M 110 42
=) 10 59
By 180 42
{(4) 180 5.9
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14 Topsol

11s the mast fertile soll for plant growth. An experiment ls conducted as shown bslow. The

Same amount of water is poured from the top of each of the three sections of d slope of soil,

walerq soll a Jants

The amount of soil collected in each section is measursd.

&

Amount of solf
collected (g)

.

+* section

A B c

Whieh of the following concluslon{s) can be drawn from the experiment above?

(1
(2)
(3}
(4)

Deforestation leads to global warming.
Deforested areas have less fopsoil.

The roots of plants held the soil together o reduce soil erosion.
The rools absorbed all the water in the soil,

Lo S o T v+ S

Aonly
A and C only

B and C only
C and D only

10
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15 The table beiow shows the properties of four materizls, A, B, C and D. A fick (') indicates |

presence of properly In the material.

Which material, A, B, C or D, Is suitable to make part W which is used for grilling of food?

) Property
Material strong flexible a::laos:s t%llirgo':: t: goodotf:?:;: :tctor
Ml A ’
@] =® Y
®| ¢ / ’
( 4) s v v

16  Magnet Q was fixed to the table. Magnet R was brought close to Magnet Q as shown below.

R Q

Which of the following shows the direction of the different forces acting on magnet R?

Magnetic force Frictional force Gravitational force
(1 “ - 1
(2) — - )
(3) “ <~ d
(4) - - 4
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17

18

The graph shows the length of four rubber bands, A, B, C and D, when a load is hung onto

them..

Length of rubber band (om)

A A

-» Mags of load

Kumarwants to choose an efastic band to make a catapult that can launch a stone over the
greatest distance when pulled back by a fixed length.

Which rubber band, A, B, C or D, should Kumar choose?

(1
2
@)
{4)

o w >

The dentist uses a mouth mitror to examine the teeth of her patient,

Which of the following best explains how the dentist is able to see the teeth in the mouth
mirror ?

(1)
(@
@)
(4)

The mouth mirsor shiries fight onto the teeth for the dentist to see.

The mouth mirror refiects light from tha teeth for the dentist to see.

The mouth mirror absorbs light from the testh for the dentist to see,

The mouth mirror alfows light to pass through the teeth for the dentist to see.

12
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19

20

Eskimos build igloos with ice blocks for shelter as shown in the following dlagram,

Which of the following best explains how the igloos keep the Eskimos warm?

M

{2)
€

(4)

Cokiness in the surrounding ait is.conducted into the igloos slowly as the ice is a poor
conductor of heat.

Coldness in the surrounding alr cannot enter due to the tiny opening of the igloo.

Heat from the hot alr Inside the igloo cannot be conducted out of theigloo as ice is a
poor eonductor of heat

Heat from the Hot air inside the igloo is conducted out of the igloo slowly as ice is a poor
conductor of heat.

The diagram boelow shows & head torch powered by batteries.

head torch

batteries

Which of the following correctly shows the energy changes in the head torch?

)
(2}
(3)
(4)

potential energy > heat energy > light energy
slectrical energy - light energy + heat energy
potential energy > electrical energy = light energy + heat energy
electrical energy —> potential energy > light energy + heat energy

13
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21

Deming pasted a film on a glass window to reduce the amount of sunlight coming into the room.

Some air bubbles were trapped under the fim as shown below.

air bubbles

trapped between
film and glass

window

i

window frame glue

glass window

{ lsunlight
é"/

with alr &

side view

What will happen to the total volume and the mass of air in the gap If the westher becomes very

hot for a few weeks?
Volume of air in the gap Mass of air in the gap
{1} increase remain the same
2} Increase increase
(3) remain the same increase
(4) remain the same remain the same

14
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22 Four Identicel cloths A, B, G and D each contalning the same amouni of water, were left to dry
undar diffarent conditions 1, 2, 3 and 4.

cloth is folded

condition 1 condition 2 condition 3 condition 4
hot hot cool cool
windy no wind windy no wind

She recorded 1ha mass of each cloth afler an hour and plotted the graph below,

Mass (g)
4
200

—

A B C D

A 2

Based on the results in the graph above, which of the following Is correct?

condition 1 condition 2 conditlon 3 condltion 4
(1) B D c A
(2) A c D 8
{3). B A C D
# A B c D

16
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23  The table below shows the malting and boiling point of three substances, E, F and G.

Substance Melting Point (°C} Boiling Point (°C)
E 2 29
F 10 21
G 3z 50

Jiaqi wants 1o store the substancas for a long period of ime.

Which of the following substa_rm(s) has fo be stored in a sealed container at 30 °C to prevent it
from escaping into the surroundings?

M
(2)
(3)
{4)

24  Study the circult diagram below. Materlals P, Q and R were connected to the circult befow.
1)1}

Which one of the following most likely represents the materials, P, Q and R, and the number of
bulbs that lighted up?

F only

E and F only
E and G only
E.FandG

B1

B3 B4

N

R

P Q R Number of lit bulbs
(1) steel glass aluminium 4
) | aluminium iron glass 3
(3) glass copper steel 2
(4) copper glass fon 3

16
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25  pavinia noticed that the green exit sign above the door was faulty. Only the buibs behind three
letters, X, I and T were iit, but the letter E was not.

Elyly

P [/

jattar fetters
not 1it lit

EXIT

\

door

Al the components used are identical and In good working condition,
Which of the following shows the correct armangement of the circult?

(1) T 2) T |

(3 4)

68 188 tologn |

17
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26  The graph shows the extension of spring Q and spring R when differant loads were hung on
them. The initial length of Springs Q and R werg 8 em.

Extension 4 spring R spring Q
{cm} 4

3

2

1

0 100 200 300

Which of the following is correct?

» Mass ()

mass of load when final length of | Tinal fength of spring R
spring Q is 10 cm with 200 g load
()] {cm)
(1) 100 10
(2) 200 12
3) 100 12
(4) 200 10

18
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27 Karen has three wooden frames P, O and R as shown below,

frame P frame Q frame R

10 om 10 em 10em

C————>
10 em 10 6m 10 cm

She hung the frames between a tamp and & screan. The shadows formed on the screen are
shiown below.

posilion 1 position 2 position 3
U 2 W

YRS N P e B

A AT

frame

e 2 T T T T T e b e,

prteae

-

o

shadows on the screen

Which of the following correctly shows the positions of frames P, Q and R?

Position 1 Position 2 Position 3
1N Q R P
(2 P Q R
{(3) Q P R
{4) R P Q

19
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28 Aballis rolled down a siope. The graph shows the amount of different types of energy of the
ball at point P,

Enargy (unit)
A

30

Types of energy
Key

potential energy kinefic energy D heat energy

The experiment Is repeated with sand applied on the slepe. Which graph correctly shows the
amounts of different types of anergy at P?

(1} Energy (units) (@) E??rgy (units)

30

+Ia3
bered I b t) Ry ST PR
e
il
41a3
4
i

i1 1, Foms of energy Forms of energy

Energy {units} Er}?rgy {units)
[

- . .

30 P e 30 - oo

e | ] » Forms of energy

7222

72

3

T I l
i

B

-» Forms of energy

END OF BOOKLET A

20
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For questions 28 to 40, write your answers in this booklet,
The number of marks available is shown in brackels [ ]atthe end of each question or part quastion,

[44 marks]
29 (a)} Studythe information below.
¢ Vis the food producer.
+ Xis the only plant-eater.
+ W eeds on animals only.
Complete the food web to show the food relationships among V, W, X, Yand Z. 1
T ————
(b} Which organism (s} is / are both a prey and a predator. [1]
(¢} The diagram below shows the fruit of organism V that has been cut open,
juicy flesh with small
and indigestibla sesds
Explain how organisms that feed on V help in s seed dispersal, [l
{Go on to the next page)

SCORE

BP~857




a0 Animal P is usually found perching on the back of animal C as shown below. Anlmal P feeds on
pests that hide in the hair of animal C. Pesls féad on the blood of animat €.

animal P

{a) Based on the information given above, describe how Animal P and C benefit from their
relationship with each other. (2]

{) Benefit for Animal P:

{ii) Benefit for Animal C:

Animal C lives In forested areas near tivers. On hot days, it dips itself in the water to wel its body
from time to time.

{(b) Explain how the dipping in the water to wet its body help keep animal G ceol. 1
(Go on to the next paga)
SCORE
3
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31 (a) Describe how the digaslive sysiem and circulatory systam work together in our body. (2]

The diagram below shows the changes in the amount of digested food as & goes through the
different parts of the digestive system.

Amount of
digested food
A
mouth gullet stomach, small {arge >
intestine infestine’
(b) Why is there no change In the amount of digested food in the gullet? 1

(e} The elderly usually have few ieeth left. They have difficully eating big pieces of faod.

Explain how having few taeth could result in a lower rate of digestion, (]
(Go on to the next page)
SCORE
4
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32

Mosquito A spreads disesss D in humans. The diagram below shows Its life cycls,

An expe_riment was conducted to find out how the surrounding temperature would affect the
duration the eggs take to develop into adult mosquitoas. The resulls are shown In {he table

adult

larva

below,
Surrounding temperature (°C)
28 30 az 34
Duration of egg stage (days) 14 11 g 7

(a) State howthe surrounding temperature would atfect the length of one complete life cycle

of Mosquilo A.

in country S, its temperature and amount of rainfall affect the number of diseass D cases.

The graph below shows the average monthly temperature and amount of rainfall in country S.

M\ 11
— o :

300
250
200
150
100
50
0

Amount of rainfall
(mm}

i

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
C o rainfall

—o—lempemature

Question 32 continues next page

35

30
28

20
18
10

{(D,) simesadwa)
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(b)

{c)

Based on the information given, in which pariod would thare be an increase in disease D
cases? Put a tick () in the correct box.

Pr——

State two reasons for your answer.

Rezson 1:

Betwsen January and June

Between July and December

2]

Reason 2

A davice is put at different locations with a high number of disease D cases. This device
contalns a liquid that atiracts fernale mosquitoes A that are looking for places to lay eggs. The
mesh-like netting at the base of the inner cup traps the adult mosquitoes that emerge from the

pupae.

mesh-like netiing

N

opening i lid

inner cup with

-------------

outer container

sticky lining at the
sides

- oo oo m=—liquid that attracts

e e e A e

_— i e - iy —

— et o — . ]

— e o — e

Besides trapping the mosquitoes under the nefling,

female mosquito

explain another way how this device help

to reduce the number of cases of disease D. (1]
(Go on ta the next page)
SCORE
4
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33 (a) Four pars of a plani are shown below. Draw arrows (———) In the diagram below to
shaw hiow water Is transported In a plant, M}

roots frudls

/

stem |-———>| loaves

{b) Describe the process of pholosynthesis in green plants, (1]

Meixin conducted an experiment to find out how temperalure affects the number of bubbles
produced by & water plant.

thermometer

nY

rler

She set the temperature of water at 10 °C and switched an the lamp. She counted the number
of bubbles produced per minute. She repeated the experiment at 20 °C and 30 °C. Her resulls
are shown below,

Temperature of water (°C) Number of bubbles
produced per minute
10 4
20 H
30 24

Ouestion 33 eontinues next page
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(c)

Meixin wants to conduct another experiment to find out how the Intensity of light affects

the number of bubbles produced,

Describe how Meixin could carry out the experiment without changing any of the

apparatus in the set-up above,

(2]

{Go on to the next page)

SCORE
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34 Sea turtles liva in the sea but lay their eggs on beaches,

Young sea iurtle . o
- L
- * . r

grows into adult
in the sea

Eggs are lald
on beaches

* »

+

Young sea turties
enter the sea

The population of sea turtles Is decreasing dile to global warming.

(@) State two human activities that result in global warming. 1

(b)  Explain how global warming causes the sea turtles to lose the place for laying eggs.  [1]

The information below shows how temperature affects the young of animal X developing inside
the egps 1o be 2 male or a female.

Temperature {°C) Gender of young produced
Betwesn 30 and 35 Male
Between 35 and 40 Female

(c) Based on the information above, suggest a reason why the popuiation of sea turties will
deeease when the temperatura of the surroundings rises above 35°C due {o global

warming. {1}
{Go on 1o tha next page)
SCORE
3
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35 The diagram below shows & test tube filled with some fimewater, Limewater ums chalky in the
presence of carbon dioxide, Sally blew alr Info the fimewater several times through the delivery

airblownthrough ___ __

tube.
delivery tube {_

S limewater

)

-----
-

{a) State why the limewater in the test tube lurned chatky after Sally blew into it.

(1

(b} Name the gas that remained unchanged in the air Sally took inand blew out,

The diagram below shows a bus on a rainy day. it was observed that water droplets started

forming on the inside of the window even though no rain could get in.

water droplets formed
inside the windows

Question 35 continues next page




The graph below shows how the aumber of passengers sffect the amount of water droplets %
formed on the windows.

BP-866

Amount of water droplets
on the window
A
_ 3. Number of
5 10 15 20 passengers
(c) Explain the refationship batween the amount of water droplets formed on the windows and
the number of passangers, 2
As
{Go on to the next page)

SCORE
4

10



36 (a) State what melling means. 1)

In an experiment, Stacy investigated the effect of substance X on crushed ice. She placed an
equal amount of crushed Ice In two funnels and added substance X fo ona funnel as shown
below.,

5 g of substance X
added

crushed ice

measuring :—»n
cylinder D
Set-up A Setaup B

She measured the volume of water collected in each cylinder after 20 minutes and recorded the
results in the graph shown below,

Volume of water
coliected (ml)

F 3

» Time {min)

(b) Based on the results of the experiment, what is the effect of substance X on the melting
point of ice? (1}

Question 36 continues next page
1
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it is @ common practice In some countries 1o sprinkle substance X on the roads.

{c) Baesed on the results of the experiment, explain how sprinkling substance X on the roads
help vehicles move through more easty after a heavy snowfall 1

(Go on to the next page)
SCORE

12



37  Aheat camera can detect different temperatures. Each number represents a differant colour.

Temperature
{°c) 21-30  31-40 4180 51.80 61-70 71-80

Colour B

purple green red

A metal bar was placed in & container of hot water at 80°C., When viewed through thie heat
camera, the following colours were observed on the metal bar immediately.

| metal bar

L—~hot water (80°C)

{a) Based on the diagram above, explain why different colours were observed on the metal
bar. 2

Question 37 continues noxt page

13
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Two hours later, when viewed through the heat camsra, only one calour was observed on the

metal bar,
M| - metal har
i} water (28°C)
(b) Explain why only one colour was observed on the melal bat afier two hours. (1]

The diagram below shows a lizard that fives in the desert. it runs across the hot sand by
alternating two of its four legs on the hot sand.

°

colours on
heat camera
'
74

(c) When viewed thraugh the heat camera, different colours were observed on the feet of the

lizard as shown above. Explain why. (2]
Explanation
Foot on the hot sand
Foot above the hot sand
{Go on to the next page)
SCORE
5
14




38 Tammy designed the sel-up balow lo calch crows. When the crow stands on the moetsl platform
to eat the food, the iron door will be closed, trapping the crow,

e

E cage Iran rod

NN

Xeiron door

‘
&'!t!!nnnr!

-

metal platform E
- food |
contacls ' spring —
{a} State a property of the contacts that allows the set-up lo wortk properly, 11
{b) Describe and explain how the set-up works to catch the crow. f21

(c) Timmy abserved that the sat-up above will not work for lighter crows.

Besides changing the spring, suggest an improvement ha should maka to his sel-up such

ihat the set-up could calch crows of a lighler mass, 11
{Go on to the next page)
SCORE
4

16
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3 Ming Lee setup a device to count the number of drink bottles befng thrown Into & recycling hox
as shown below.

recyciing hox | L light source

1

e @__ drink bottle

~.._ Jight sensor connected to
datalogger

—

Drink boﬁ!es__were thrown in one at a ime. The datalogger recorded the following as shown
in the graph below.

amount of light
detscted by the sensor

(units) | ] L]

» time {units}

{a)  Based on the abova result, haw many drink botties were thrown into the box? ]

{b)  Explain why the graph shows a decrease in the amount of light detected by the light
sensor at certain times. 1

{e) Give a reason why the decrease in the amount of fight detected by the sensor did not

reach zero. ]
{Go on to the next page)
SCORE )
3
16
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40 A dry mop was suspended above the floor using a holder as shown in the diagram below.

handle
-~
-
] hoider
|
wall
_

close-up view of holder

{a) identify the force that prevents the mop from faliing from the holder. 4]

(b)  When the handle of the mop was wet, the maop kept falling from the holder.
Give a reason for this observation. [1]

(¢}  After the mop was used to mop the floor, the mop head was dripping wet and the mop
kept falling from the holder although the handie was dry.

Explain why this was so in terms of forces. 2]
END OF PAPER
(Go on to the next page)
SCORE
4
17
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b

[e}

" Kay idea: iardependence (muliaim) bslwesn organims.

30 @) [{) P wil have g source of food / R can grotect F* fom bs predators. {1]

3 a)!

1h)
(c}:

. Tha cireylatory eysienm Lransponrs sk bloog fich i digesled all perls
pf lhe body. {1]

" & lowar raie of digeslion

SINGAPORE CHINESE GIRLE' PRIMARY SCHOOL
2024 P8 PRELIMENARY EXAMINATION
MARK SCHEME (BOOKLET B)

A
Key ey idea: Food reialionships 7 inerdependence balween mants and

BP-~876

i
fY and W [ mark sach]

iTha small indigeslible Sepds are ealen together with the fniil and passed
__&ww,[ﬁ] away lrom the parent plant lo yeduce {
; prevent gvercrowding, [V

("} © will not have pasts/ tess pasts 1o Feed on il blood / spread
infegligns. {1}

_; Asgumal G inses heal 1o the water [12] en its body as Ihe waler evaperalps.
:14)

| Kay dea: Recogrmse the fdnction of organs of digestive spaiem and AOW
all the body -systens work togelher

Tha digastive system broaks davin food into gimpler subsiances
' phucose £ sugar {#4) which s ahsoﬂmd o the b)oudslream [

' Digestion of foud does nol lake place in the guliet. {1)

Food is being chewed lass, resulfing in e bigger plcees of food (V]
" having less surtace 3608 comacl with Ihe dicestive vice [4], feating to

Kay ldoa. life cycie; dals infarence skills

32 {g) ] As the sumroundting fempargture ngreages. the length of one complete lifs
gycle shorlens / decreases. [1)
() { Between July and December sfavm murst Se eomect .
e {Csuse 12 Effect [1i2)
“Reason 1| Higher amount of Nore plaoesof ‘masquito to 3ay
| rainfal eggs / more rainisi akows

] ote mosguitoas fo fay 86gs.
 Resson2 !ngher {emperalurg | Duration of ife cycla of

osquilo 5 shorer.
{6} § The sdull mosquitaes wil gat stuck Io f irappad by the sigky ining {142 -
obsarvabon]
There will be mosgui ing.t i
| [12 - Inferanca]

i
Koy idoa: G118 Ure rinuinsmants (walor, Sght nergy nd carbon droxiie)
for phatosynthesis; invesiigela factors that affect rale of photosynihosis

33 (o) b o

In lhe: prosance of light, carban dimdde, water [1/2) is taken in by p'ianls
lo produce glucoselsugariood and oxygen. (1/2)

[changed and constant variable — Tm]

» Without changing the lemperature of water, [1/2] vary Ihe dislance
between lhe tamp nd tha water planl. (12)

[measurad variable — m}

+ Count ihe number af bubbies produced par minuie for each distance,

Key idga: raproduction in arintals; Fman unpeet on evionment

(s

Dafaresiation / buring of forests / Increass in the number of vehicies /
lncrease in the numbar of kactories { burring of fugls T4/2) cach




35

37

{0} Gobal waming cavses fe potar 1og cans @ mil{ U2), resulting in ding

£0a fevels AND Pooding / causing (he sand 1o be covared in 503 waler f
covenng the beacties [1/2] the beaches.

i€} There will be fewer malos [o male wilh the femalgs [1/2). Hence, [qwar
qgs will be halch wikg voung i fower rale of repegtuslion, (/2]

}
!

" Key idea: Soniposilion of ak, condeniation
{3a) There is carbon dioxiga in exhaled s, %]
(o} Mvogen 1}
‘Marking poni 1: {relationship batwaen rumber of passengers and
{c) smuounl of water vapour)
As the number of passengers increase, mare walor vapour will be in the
'a@ir inside the bus. {1}

Marking poinl 2 {increased rale af condensation)
More waler vapour wil condanse on the caolar surface of fhe windows.
il

" TKey ides: meiting poin, tals mierence skl

{#) - Metting is the change of slate from solld jo liguid (12} at a fixed
lempecaturn, {1/2)

(b} Substance X lowers the meifing print of ice, [1}
{e) The piles of snow will meit faster, [1) claating the road for vehiclss,

" Key idsn: Heat iravals fom a holler (33 cookr region

{2} The part of the metal bar thal is in direct c¥nearer 1o the ho! water
“1142) gauned mors heat / qaped heal faster. £112] The part of the malal

bar that s further avay irom the hot water [142] gained Iogs heal { gained

heat slower [1/2]

(b} . The metal bar o5t heatlo the gurrovndings {142} end reached room
- lempersiore / the same lermeralure as lhe suroundings {1/2]

(e} ; Fool on the groung: The teol gained heat from (ha hot sand f heat from
¢ #hee hot sand is wansferred tp the lizard's leg (1)

i
i
i

[
|
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T 7 “Fool above ihe gisund; Thi foct igst Fgat 1o INg SUrrousdns | cools

- down {0 the lemperatun of suroundings, [1)
YT eny lea; leciromagnil, chased el

38 {#) ! ltis a condustor of elacincity / elsctricat condutter [1}

(b} When crovw fands o the matal ptatform lo eat the feod, the sprng wiltbe |
i compiessed, causing {he wo contacts 1o teuch {1723 1o fpmm 2 closed )

H igirgult [172]. The wen rod will become an slacromagnat [1/2] and tha won

idoor witi be attracted {142}, closing tha door o tha cage. :

{e} inerease the length of tha contacts 7 Bring the retal contacts cioser. [1]
THay itea’ Shadows are tormied when Jight is blocked

139 {a) [Sfvelr)

: (b} ; Liant from e Rght sourca was narially ploeked {1} from the Lght sensor
when a dink bottie was thrown in.

{c} | Some drink botties ware transiucentiatiowed some Hohl 1o D25s through

Key idea: friction; lubricanis reduces frclion

40 (2) Erietional forcs / frictinn (1] batween e handie of the mop and the
{ holder.
(3
: Walgr (on the handla) reduced the ameunt of friclion between the bpntia
(c) ; and the hokdar, {1]

;
« = The masg of te mop incressad ¢ the map batame heavier due o the

1 water it absorbed, (1)

i~ The weiyl! of the mop f gravitaionat force aching on the mao is areater
i than ihg frckional force beiween the mop and the holder. [1]

{
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